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���� .HVLPSXODQ

%HUGDVDUNDQ� VHOXUXK�KDVLO� WDKDSDQ�SHQHOLWLDQ�\DQJ WHODK�GLODNXNDQ�� GDSDW�

GLDPELO�NHVLPSXODQ�VHEDJDL�EHULNXW�

D� 6LIDW� PHNDQLV� SDGD� SHQHOLWLDQ� LQL� DGDODK� SHQJXMLDQ� EHUDW� MHQLV�� NDGDU� DLU��

SHQ\HUDSDQ�DLU��NHUDSDWDQ��GHQVLW\���LQLWLDO�UDWH�RI�VXFWLRQ �,56���GDQ�NXDW�WHNDQ��

3DGD� SHQHOLWLDQ� LQL�� GLGDSDWNDQ� QLODL UDWD�UDWD� NHVHOXUXKDQ� EHUDW� MHQLV� �����

JU�FPñ��NDGDU�DLU����������SHQ\HUDSDQ�DLU����������NHUDSDWDQ��GHQVLW\� �����

JU�FPñ�� LQLULDO�UDWH�RI�VXFWLRQ �,56�������JU�PHQLW��+DVLO�SHQHOLWLDQ�GDUL�QLODL�

UDWD�UDWD�NHVHOXUXKDQ�NXDW�WHNDQ�SDGD�XPXU���KDUL������03D� XPXU����KDUL������

03D��GDQ�XPXU����KDUL������03D�

E� 3DGD�SHQHOLWLDQ�LQL� GLDQWDUD�NHWLJD�SHUEDQGLQJDQ�YROXPH�FDPSXUDQ�\DQJ�WHODK�

GLXML�� SHUEDQGLQJDQ� YROXPH� FDPSXUDQ� \DQJ� PHPLOLNL� NDXW� WHNDQ� WHUWLQJJL�

DGDODK�SHUEDQGLQJDQ�YROXPH�FDPSXUDQ��������� GHQJDQ�NXDW�WHNDQ VHEHVDU� �����

03D�

F� %DKDQ�JURXWLQJ GHQJDQ�YDULDVL�EDKDQ�WDPEDK�VRGLXP�VLOLNDW�GDQ�VHPHQ�WLGDN�

GLDQMXUNDQ�XQWXN�GLJXQDNDQ�NDUHQD�NXDW�WHNDQ�\DQJ�GLKDVLONDQ�VDQJDWODK NHFLO�

GDQ�EDKDQ�VRGLXP�VLOLNDW�MXJD�PHPLOLNL�KDUJD�\DQJ�UHODWLI�PDKDO�

���� 6DUDQ

%HUGDVDUNDQ�NHVLPSXODQ�\DQJ�GLSHUROHK GDUL�KDVLO�SHQHOLWLDQ��PDND�SHQXOLV�

PHQFRED�PHPEHULNDQ�VDUDQ�VHEDJDL�EHULNXW�

D� 0HODNXNDQ�SHUHQGDPDQ�EHQGD�XML�VHODPD�PLQLPDO����MDP�VHWDODK�GLOHSDV�GDUL�

FHWDNDQ�

E� 3HQHOLWLDQ� VHODQMXWQ\D� GLKDUDSNDQ� PHQJJXQDNDQ� SHUEDQGLQJDQ� YROXPH�

FDPSXUDQ�\DQJ�OHELK�EHVDU�SDGD�VRGLXP�VLOLNDW�

F� 0HQJJXQDNDQ�YDULDVL�EDKDQ�WDPEDK�\DQJ�EHUEHGD�GDUL�SHQHOLWLDQ�\DQJ�VXGDK�

GLODNXNDQ�


